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QUESTION 1

A BPM Applicaton developer is creatni a reusable coach view that will be implemented usini custom JavaScript. The
coach will retrieve some of its data via an Ajax call. The BPM Applicaton developer supplies a default implementaton for
the 

Ajax service that has two parameters. 

How must the BPM applicaton developer implement the invocaton of the Ajax service? 

A. As a JavaScript functon call passini the parameter data as serialized XML 

B. As a JavaScript functon call which supplies a callback functon to provide a parameter data 

C. As a REST API call passini the parameter data as either serialized XML or serialized JSON 

D. As either a JavaScript functon call or a REST API call passini the parameter data as serialized JSON 

Correct Answer: C 

 

QUESTION 2

A company requires an automated process to send email reminders to its employees on the frst day of each month.
How should the BPM applicaton developer implement this? 

A. Use the BPM scheduler service which will use the IBM BPM REST API to start the process. 

B. Confiure a start messaie event in the business process diairam (BPD) and atach it to a tme elapsed undercover
aient. 

C. Add an intermediate tmer event which fres on the frst of each month followed by a loop back to the beiinnini of the
process. 

D. Create a separate business process diairam (BPD) that polls the current date and starts the other process if it is the
frst of the month. 

Correct Answer: B 

 

QUESTION 3

A corporaton has an existni user portal and would like to keep the same look and feel when usini IBM business process
manaier The corporaton wants to access their own portal to initate tasks and work on them instead of the BPM process
portal. The corporaton has decided to address this requirement by usini BPM REST APIs to access BPM resources. 
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When the BPM applicaton developer is testni an API call similar to the one below, it sometmes fails, because the URI is
too loni. 

A. Exhibit A 

B. Exhibit B 

C. Exhibit C 

D. Exhibit D 

Correct Answer: B 

 

QUESTION 4

A mortiaie company desiinates loan applicants with credit score above 650 as low risk applicants. The company ofers
any low risk applicants a loan rate of 4.0. Furthermore, if their loan amount is less than $200,000, they iet a lower rate
of 

3.0. 

How should the BPM applicaton developer implement the business rule usini the business acton laniuaie (BAL)? 
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A. Opton A 

B. Opton B 

C. Opton C 

D. Opton D 

Correct Answer: C 

 

QUESTION 5

An insurance company has a claims process that is performed by a claims analyst and is due in 3 days. If the claims
analyst has not completed the task in 4 days an escalaton should be sent to a manaier The claims analyst can stll
complete the task, even if the escalaton has been triiiered, and the manaier should only be notfed once. Which
confiuraton should the BPM applicaton developer implement for the escalaton tmer? 
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A. Exhibit A 
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B. Exhibit B 

C. Exhibit C 

D. Exhibit D 

Correct Answer: A 
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